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QUESTION 1

What are two requirements for provisioning a device using ZTP? (Choose two) 

A. The network must have a DHCP server 

B. The network must support VPN tunnels 

C. The network must have a hosted server that stores the device image and configuration 

D. The network must have an NTP server 

Correct Answer: AC 

 

QUESTION 2

Which statement is true about VNFs? 

A. VNFs are always physical devices 

B. VNFs are virtual devices 

C. VNFs are only used in service provider clouds 

D. VNFs are only used in data centers 

Correct Answer: B 

 

QUESTION 3

What are two virtualized components of a vMX? (Choose two) 

A. VFP 

B. vNIC 

C. vSwitch 

D. VCP 

Correct Answer: AD 

 

QUESTION 4

What are two characteristics of an overlay network in a cloud networking data center? (Choose two) 

A. An overlay network provides physical connectivity between hosts 

B. An overlay network uses Layer 2 tunneling technologies to interconnect hosts 
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C. An overlay network must reside in virtual machines within the data center 

D. An overlay network provides logical connectivity between tenant networks 

Correct Answer: BD 

 

QUESTION 5

Which type of SDN are you using when you automate a Junos device using PyEZ and NETCONF? 

A. API-based SDN 

B. SDN as an overlay 

C. SDN as an underlay 

D. OpenFlow-based SDN 

Correct Answer: A 
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